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Maximum : 75 marks
PART A — (10 x 2 =20 marks)
Answer any TEN questions.

If CP and CD are a pain of semi conjugate
diameters then prove that CP? + CD? is a costant.

CP wpgd CD erémuen ¢ Cgmy i@y @aer
AL iuser erefléd CP2 4+ CD? @m wrbled erem Flmeys.

Write down the pole of the line Ix +my+ n=0 with

S Al .em.
respect to the __m_Evmo — +25=1.

@n

X2 5
Na+3v~+= 0 eremp qurs.mﬂ @@P_m@n — +5=1

a® b
Qmﬂe .%QQ_IF.@%@ QUIBSS! o7 (YEI5.

Find the centre and eccentricity of the hyperbola
9x® —16y* +72x-32y-16=0.

9x% —16y% +72x-32y-16 =0 eremm
siduraumanugdlar @wwid bHYID S 2 (HeusDd
HUeHnDE SreRTs.

uy ] quw__ﬁ ?KP?

Find the angle between the planes.
2x+4y-62=11 and 3x+6y+52+4=0.
2x+4y-62=11 wpgd 3x+6y+5z+4=0 eenp
soThisEssHL Ll L Carasmss &GRS

Find the equation of the straight line joining the
points (2,5,8) and (-1,6,3).

AN, 58) womwb (-1,6,3) dwu yereflsmer

Qerenré @ CrTGaHT I 6 FLOETLIML iy HETs; &I,

Find the equation of a sphere having centre at
1,2,3) and radius 4 units.

(1,2,3) erenp enowipld b 4 @@@m@& QameirL

e Carargdlen sweLm L smers.

Find the centre and radius ow the sphere

4x® + 32 +2%)-8x+12y-162-20=0.

4(x® +y% +22)-8x+12y-162-20=0 erem

GamengSler antowith LOHMILD D TBISEETE SIS,
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Write down the equation of a circle in polar
coordination.

R QUL swauriemL gimHel Fs FIThiGeD
T(LPSI5.

Write down the polar equation of a conie.

bl Gleuliquller g)(meud FLoGTLTL GnL GT(HEIE:.

Write down the equation of the asymptotes of the

hyperbola ax® + 2hxy +by® +2gx+2fy+c=0.

ax® +2hxy +by? +2gx+2fy+c =0 i Grenm
Sfduremeatugdean  QsrewasagTE Car(saien
FLOGTLINL_ DL 6T(LPS) .

Show that the points (5,3,-2), (3.2,1) and

(-1,0,7) are collinear.

Am. ..w.v ' Nv ’ Aw‘ Mv Hv _.D.G@:b AIHV Ov ‘Nv n@nwmwcl r._Q._.Qjmwg
Gy CriGam_i.e o ereraneu eTar Hlmieys.

Find the equation to the plane through (3,4, 5)
and parallel to the plane 2x+3 y—-2z=0.

(3,4,5) eremp yerefl | eufluns C&coguLd . “HmILd
2x+3y-2=0 eam sasHDG QevawTimengy o mEn

BeTSSlan sLoemLIT DL SreiTs.

m?@w\
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PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Derive thz equation of the @&mw of the point

(x,y,) with Hmmvmon to the oz%mm |+ M. =1.

a®
(x,3)  eemm ydrefllenr gimeus  swemUT enL
x? g i ‘

Nm.+ 7 |H.ﬂm§.c m%m.__.lrmasm QurBsg m@@wm.

Show that the locus of poles with respect to the
parabola y% =4ax of tangents to the hyperbola

x? - y% = a? is an ellipse.

@%quaﬁ_%m%mﬁ
- Bluwndurens

x? - .em =G0 o GTGOT
@.@:@Qm:@m%%

=4dax  eaip  LgemeTWEME QUTBSE QW
ma:@.__l_lro:@.s erem Flmies.

@@9@9%%

In the hyperbola 16x*-9y%=144" find the
equation of the diameter conjugate to the diameter
x=2y.

16x% —9y% =144 T < Slureuamenugden
el gdlen Fwemumien. x = N% eremp el L S
Qeenr AL ons Qm&ELonn Sea.
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Find the equation of the plane through Al.r.r 2)
and perpendicular to the planes x+y+2=3 and

C2x—y-2z=5.

X+y+2=3 wHmbd 2x—y—2=5 G FATERHEHES
Gergssraayd (<1;1,2) eremp yerafller aiflursans
Qedeéaniq ) sengHen FOGTLIM. ML & STems.

Prove that the lines are coplanar and find the
equation of the plane containing them

.x+~u.w~|wun+mmbm NMEMNAQM

-3 2 1. 1.-3 2
a+~u.<|_wum+msn = x_y-T7_z+7 Es
To0 2 4 82 Ja gt v
Can@aer @Gy sarsdled dmwbsmes erar Hlmes,
wpgd  @ECsrhemer  Qsmem(etar  FersHen

FLOGTUTL_EHL_WL|LD SHTEHTS.

Find the equation of the sphere which touches the
three Coordinate planes and the  plane
2x+y+22=6.

parn  pusdsrawssamusmarud 2x+y+2z=6
aary geargamgud CAer@n Camargdar swamim_ean &
EHTETS. ) .

Find the equation of the sphere having the circle
x® + 9% + 2% =5;x— 2y + 2z =5as a great circle. Find
its centre and radius. g
x*+y?+2° =5;x-2y+22=5 eamp aiLgmsL
Qu el wnss Qaream . Catargdlen Fwemnim’ &
EMETTE. BT OWLD LHND PID JHLHDDE
ST
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- Find the locus of the middle points of chords of to

circle x%+y® =a? which subtend a right angle at

the point (h,k). _ (10)

(h,k) aamp yereflller QehiGsreamsams sTRIEGLD,

x*+y?=a® aam  ealLgflar  prawsefen

peUyeTalisafler fluwluragamws snars.

(a) Find the equation of the plane containing the

plane of intersection of the planes
X+y+2-6=0;2x+3y+4z+5=0 and
passing through the point (1,1,1). )

(b) Find the plane through the points
 (1,1,0),(1,2) and (-2,2,-1). ()
(=) Q,1,1) GTET yerefludiesr auPlunsa|bd
x+y+2-6=0;2x+3y+42+5=0 < Sw

gemmseflar  Qaul@® sosdlear  euflunseyd

Qedasaalg Ll FaTSHle FLOSTLIML g ENE STERTS.
A&v AHv Hu Ov. AH. N%—.v _.DBB.__.D Almu N~ iy Hv .&%E
yereflseflenr  eufluns Oeoewsamigu  sersden

FLOGTLITL_6NL_& SHITE0Ts.
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20.

23.

24.

PART C — (8 x 10 = 30 marks)
Answer any THREE questions.

(a) Show that the locus of the point of
intersection of tangents at the extremities of

a pair of conjugate diameters of the ellipse
2 2 . 2 2

R1m+.<|uH w.m?m m.Ecmm a|N+Q|u . © ()

a® bt a® b’

(b) If e and € are the eccentricities of a
hyperbola and its conjugate then prove tha

0. % :
—+—==1. F 5
et (e) ®
2 ,QN . .

(@) —g+iz=1 odp faashar o6 Ggm
Qevamell_Ligaflen penarsafier cuaguILED
Qzr(HCar(hseflen Qeul_@Hu yeretiuden

N 2 .2 . :
INTLINTHD F W+M|Nnm eremp Hemeul L b erar
Bimieys:

(<) e wpmd €' eraTuaT g Bereul L b DHOILD SiF6H

Qavanr  ghwaphler o meusd  erafled
1 1 .
m|N+ @) =1 cranflmeys.
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Find the shortest distance between the lines

x-8 y+9 2z-10 x-156 _y-29 _2-15

= and. -

3 -16 7 e 8 -5
Find also the equation of the line of the shortest
distance. 10
x-8 y+9 2-10 . . x-15 y-29 =z-15

3 -16 7 3 8 -5
) Car(hserédlen i L GODHSULE

Qsranevencus srams. G@DPps LIS QsTareaneud
GME@D, CamLig 6 FLOGTUNL_ML_U|LD SHewTs.

Find the equation of the sphere passing through
the points (1,0,-1),(2,1,0),(1,1,-1) and (1,1,1). (10)
G..OMIHVVANquOva“—JH@IHV.
auAGw&

FLOATUNL_GNL_5 HTETs.

wompw  (1,1L1) e

yeatlsafl e GlFegnLd Camargdle
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